EARAROBREBRT —5 XN—ZXBISH—F

2024548308 (X)) 3EER2H

LMt SR—fix C17 BN R
[xE&] 15:420,000H  23&:134,000H  3#&:67,000H  43%&:50,000MH  5i3&:42,000H
SR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
1 3 FILIAVYINSA o4 g%ﬂg% 1:(3_1)'0 3333 385 - 2 (4327) g%ﬁég @R
RiJ4 I RI—ILEY B:FILRAEUIR TJ7=—EILT7—LA
< FERAT : -2-2- - aRke (&R
) 6| F/RT1—> 4% 6 on 1.(331).6 2-2-2-2 | 39.7 3 (4:53 @Eaf%
RiN40 B:AHITUFL HRXaHt SUAYTIrF—L
< BRI : -5-5- - BHEHE_ (&R
3 4 FA A — 4 6 B i 1.(332).2 5-5-5-4 | 39.3 4 (‘1417) e ER)
R:7ZRIAV L= B:T7—0F4vIVILT F—L— - I\ - T7—LERR
] — == 8 6 | RTTR 1:32.4 6-6-6-6 |39.2| — 6 451 | EER @R
41111170-U7RXFS5 54.0 ) (7) | BTEBESE
RN—EVIv— B:ISvyaAvi— J=2AH-=F
= S v 6 | P 1:32.4 3-4-4-5 |39.7| — 5 506 | BAE (&R
5177 2ALD9—F z 0 F52) Ch |
RiIW—5—IvF B:NAUIAU TS
= < SHREA : -1-1- - FHiE—th (&R
6 ) | FARE—XTU b 4 8 B 1(.13/22.)5 1-1-1-1 | 42.0 1 (E?(z)) e
RiF4—=FAVNT~ BAKRIVIR %S
ey . JEIZATT : -7-7- - SEEF (R
71505 54 2T A LR 4 5 sﬁ_o (;%;) 7-7-7-7 | 41.0 7 (4_470) Eld ER)
RiAUTVII—2RY B Y709 J=HYTr—L
@ 1—F—&RIEL
13—7— 2,6,(3.,7).,4,1,5
20— — 2,6,3,7,4,1,5
33— — 2,6,3,7,4,1,5
43—F— 2,6,3,4,7,1,5
o ILRE
BB 3 1,000 JA R 3-6 360M4 5 & 3-6 2,300 3EE 3-4-6 3,810
B B 3 310 3-4 380 =51 3-6 5,810 3EH 3-6-4 28,6504
6 410 4-6 8504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




